

$$\log_n^m = a$$

$$\log_{mn}^m = b$$

$$a > 0$$

$$[b] = ?$$

$$\frac{\log_n^m}{\log_{mn}^m} = \frac{\log_n^m + \log_n^1}{\log_n^m + \log_n^1} = \frac{r_{a+1}}{a+1} = 1 + \frac{a}{a+1} = b$$

$$[b] + \left[\frac{a}{a+1} \right] = 1$$

$$y = \sqrt{\frac{x}{\log \frac{x}{1/r}}} =$$

$$\frac{x}{\log \frac{x}{1/r}} \neq 0 \Rightarrow x \neq 1$$

$$y = \log_r \frac{(x^2 - x - r)}{\sqrt{x^2 - 1} + 1} \rightarrow \frac{(x-r)(x+1)}{+ - + +}$$

$$x^2 - 1 \neq -1 \Rightarrow x^2 \neq 0 \Rightarrow x \neq 0$$

$$(1) \cap (2) \Rightarrow D_f = (-\infty, -1) \cup (1, +\infty)$$

$$r \log \frac{a}{x} + \log \frac{\sqrt{x}}{a} = r \text{ if } x=9 \Rightarrow a=?$$

$$r \log \frac{a}{9} + \log \frac{\sqrt{9}}{a} = r$$

$$\log \frac{a}{9} + \frac{1}{\log \frac{a}{9}} = r$$

$$A + \frac{1}{A} = r \Rightarrow A = 1 \Rightarrow \log \frac{a}{9} = 1 \Rightarrow a = 9$$

$$\log r = 1/r$$

$$\log a - \log r = \log 1 - \log r - \log r = -1/r$$

$$\log r = 1/r$$

$$(r \log \frac{a}{9} + \log \frac{\sqrt{9}}{a}) - \log 1 = -1/r$$

$$\log r + \log 1 - \log r = -1/r + 1 - 1/r = 1/r$$

$$r \log \frac{a}{9} + \log \frac{\sqrt{9}}{a} = r$$

$$r \log \frac{a}{9} + \log \frac{\sqrt{9}}{a} = r$$

$$\frac{\sqrt{a}}{a} = \frac{1/r}{r}$$

$$\log r = 1/r, \log a = 1/a$$

$$\log \frac{a}{r} = r$$

$$\log \frac{1}{r} = ?$$

$$\log \frac{1}{r} = \log \frac{1}{r} + \log \frac{1}{r}$$

$$\log \frac{1}{r} + \log \frac{1}{r} = \frac{1+r}{1+r/a}$$

$$= \frac{1+r}{1+r/a} = \frac{r}{1/a} = \frac{r}{1/a} = \frac{12}{19}$$

$$\log_r \delta = 1 \Rightarrow$$

$$\log_r \delta = \frac{r}{r} \Rightarrow \log_r \delta = \frac{\lambda}{\delta} \times \frac{r}{r} = \frac{1r}{\delta}$$

$$\log_r 114 = 1.4$$

$$\log_r 10 = \frac{\log_r 114}{\log_r 114} = \frac{\log_r 114}{\log_r \delta + \log_r r} = \frac{1 + 1.4}{\frac{1}{r} + 1.4} = \frac{r}{r} = 1.4 \delta$$

$$\log_r 10 = ?$$

$$\log_r 114 = m$$

$$\frac{1}{r} \log_r 114 = \frac{1}{r} (\log_r r + \log_r r) = \frac{1}{r} (r \log_r r + 1) \Rightarrow \log_r r = m - \frac{1}{r}$$

$$\log_r 114 = ?$$

$$\log_r r = \frac{r}{r} m - \frac{1}{r} \quad \frac{1}{r} \log_r 114 = \frac{1}{r} (r \log_r r + \log_r r) = \frac{1}{r} (r + \frac{r}{r} m - \frac{1}{r})$$

$$\frac{r}{r} + \frac{r}{r} m = \frac{r}{r} (1 + m)$$

$$(\frac{1}{r})^{r-1} = (\frac{114}{\lambda})^{r-1}$$

$$\log_r (9x+1) = ?$$

$$(\frac{r}{\delta})^{r-1} = (\frac{\delta}{r})^{r-1} \Rightarrow (\frac{\delta}{r})^{1-r} = (\frac{\delta}{r})^{r-1} \Rightarrow r-1 = 1-r \Rightarrow r + r - 1 = 0$$

$$\text{if } x = \frac{1}{r} \Rightarrow \log_r (9x+1) \rightarrow \log_r \frac{10}{r} = \log_r r = \frac{1}{r} \times r \log_r r = \frac{r}{r}$$

$$\log_r r = a$$

$$\log_r b = \frac{r}{r} (1+a)$$

$$\log_r (rb-1) = ?$$

$$\frac{1}{r} \log_r b = \frac{r}{r} (1+a) \Rightarrow \log_r b = r(1+a) \rightarrow \log_r b = r(1 + \log_r r)$$

$$\log_r b = r \log_r r \Rightarrow \log_r r = \log_r b \Rightarrow b = r^r \log_r (1.1 - 1) = r$$

$$- \tan r + b \tan \frac{1}{r} = \frac{1}{r} \log_r r$$

$$\log_r r, \frac{b+c}{r} = a \left(\frac{1}{\sqrt{r}} \right) \frac{c}{a}$$

$$\frac{r-a}{b} = r \log_r r \Rightarrow \frac{r-a}{b} = \log_r r \Rightarrow b = \frac{r-a}{\log_r r}$$

$$c = r-a-b$$

$$\frac{c}{a} = \frac{r-a-b}{a} = r - \frac{b}{a}$$

$$r - \frac{b}{a} = r - \left(\frac{r-a}{\log_r r} \times \frac{1}{a} \right) \Rightarrow r - \frac{r}{\log_r r} \rightarrow r \left(1 - \frac{1}{\log_r r} \right) = r - r \log_r r = r - \log_r r$$

$$\frac{1}{\sqrt{r}} = \left(r - \frac{1}{a} \right) r - r \log_r r = \left(r - \frac{1}{a} \right) r \left(\frac{1}{\log_r r} \right) \left(r - \frac{1}{r} \right) \log_r r \Rightarrow r \log_r r = \log_r r$$

$$\log_r r$$

$$\log_r r = \sqrt{r}$$